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cbind(sAngle, ILength, rWidth) ~ SST + Salinity + IChlorophyll + Region + |
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survival::Surv(time, status) ~ age + gender + ph.karno
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res Y

st.sm.res Y

1.0

15

-05 00 05

survival::Surv(time, status) ~ age + gender + ph.karno

PTTTT[TTTTTTITCTTTYTTTITCTTYTTTCTCTTTCTTTICTCTCTTTTCC + """" ++
+ ¥
— O
| t + * >-| ‘_|
7 I * IEamA %)
| an |A+ T 9
e At £
| |'|II||L i 2
| + 4 ;
] HHU,M Ld *a“ Ik 3 2
Ui I fia! ﬁ Tt —°
‘ 1'\1 |>'°|+|‘5| <l *T
~. ~.A+AT *+++_£+ +
a A; z&f{E\i“ﬁh"’ + ;}#‘_ toy +
A A 2la A*J_-?%ﬁ-h_ & + 5
| T T T | T I S
0.0 0.5 1.0
fitted values
"""""""" B e S e A R A
1 3
38 pes
+ |+
+
+
A
+
S * B =
s ¥ A+ a A A
L + AA
+f-AA ﬁ’At
+1 +"'d_+ NN R
wh A Ay + F a2
+ F A%t AAAI-A 2 ® 25 105 132
ot an a a
T YL N
155%'+++ﬁh_': ;115 zﬁ + N £ 4 “ 36,
189
s FF A . ‘% " A
10t A
[ [ [ [ [ [ |
0.01 0.02 0.03 0.04
leverage

ATHE LERIE S
_ +
I
+
+ +
+ +
* +
— ap S £
A A + + + +
| 84 pala 4 "t"_'_
A 4 ++++ + +
A2a éAA A ++H + +
— NN . +!-"+++ *
AA +
2 e TSR
rd af Ax’ +H R 4
— A Aln % +A +i§+ +i
a A AD ™~ + T+
A BT Ty +
a AAA A%%A"? +a t4 EN #+ ¥ +
2 a A a i
I I I I I I I I
0.0 0.5 1.0

fitted values

Aug 28,25



